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. 'TAN DTN IS 2"'n even 01IXa, and therefore a nnina non would be 2'n even 0axa,
why does n'jpprn 'aT Xan leaving out 0aix? All the cases listed are types of aiw?

. ['"DMM 'R 0T e writes that in such a case there is no oTxa nn'm arrn. What is
g explaining?

. Further to the above, since the premise for jmn 1109 is the nn'm arn and if if there
is no nn'm because there was no nxnn or because it was awa, he is still 1109
mn, because there is a “nnm arrn” how do we understand o1ix? Where there is
no nnm arrn? According to *"wn a case of |'1>pnn 11'x should be jmn avn.

. The xna says that a case of 7a1n whereby he doesn’t have to pay for the n7an,
but still has to pay for something, is in case he tore a garment while hitting
someone. Does it mean that he tore the garment of the person with whom he
was fighting or would it be the same if it's another person’s garment?

. The xna says that maybe nnna non is talking about a case where he hit the
animal on naw. Why would he be nnm avn for hitting a nnna on naw? At most it
would 7777n?
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If you have any comments or suggestions, please email me at
Ygrunhaus@gmail.com
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